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NEW QUESTION 1

You are asked to create a method that accepts an array of integers and returns the highest value from that array.

Given the code fragment:
class Test{

public static wvoid main(String[] args) ({
int numbers[] = {12, 13, 42, 32, 15,
int[] keys = findMax (numbers) ;

/* line nl */

{

int[] keys = new int[3];
/* code goes here*/
return keys;

}

Which method signature do you use at line n1?

A. public int findMax (int[] numbers)

B. static int[] findMax (int[] max)

C. static int findMax (int[] numbers)

D. final int findMax (int[] )

Answer: C

NEW QUESTION 2

Given:
String stuff = "TV";
String res = null;

if (stuff.equals({"TV"}) {

res = "Walter™;
} else if (stuff.equals("Movie™)} {
res = "White™;
} else |
res = "No Result™;
}
Which code fragment can replace the if block?
A
stuff.equals ("TV") 7 res= "Walter” : stuff.equals
res = “White” : res = “No Result”;
B
res = stuff.equals (“TV"”) ? “Walter” else stuff.equals
(“Movie”™) ? “White” “No Result”;
C
res = stuff.equals (“TV”) ? stuff.equals (“Movie”)? “Walter”
“White” : “No Result”;
D
res = stuff.equals (“"TV")? "Walter” : stuff.egquals
“White” : “No Result”;
A. Option A
B. Option B
C. Option C
D. Option D
Answer: D

NEW QUESTION 3
Given the code fragment:
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public static wvoid main (String[] args) {

String[] arr = (“Hi"”, “How"”, “are”, “You");

List<8tring>» arrlList = new ArrayList<> (Arrays.asli=st (arr);

if (arrList.removeIlf((String =) -> (return s.length() <= 2;)))

System.cut.printlni=z + “removed™)”’

}

What is the result?

A. Compilation fails.

B. Hi removed

C. An UnsupportedOperationException is thrown at runtime.
D. The program compiles, but it prints nothing.

Answer: A

NEW QUESTION 4
Given this code for a Planet object:

public class Planet {
public String name;
public int moons;

public Planet (String name, int

this.name = name;
this.moons = moons;

And this method:

moons)

public static void main(String[] args) {

Planet[] planets = {
new Planet ("Mercury”, 0),
new Planet ("Venus", 0),
new Planet ("Earth"”, 1),
new Planet ("Mars"”, 2)

System.out.println(planets);

System.out.println(planets[2].name);
System.out.println(planets(2].moons);

i

What is the output?
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A
planets
Earth
1

B
[LPlanet=s.Planet; @3154kL9742
Earth
1

C
[LPlanets=.Planst; @15dkL2742
Planets. Planetladiadayc
1

1]
[LFlanst=. FPlanst; 31542742
Planets. Planest@adiadeYc
[LPlansets . Moon; @7/852=922

E
[LEPlanet=s. Planet; @15dkL9742
Wanus
O

A. Option A

B. Option B

C. Option C

D. Option D

E. Option E

Answer: C

NEW QUESTION 5
Given the code fragment:

public static void main(String[] args) {
int datal[] = {2010, 2013, 2014, 2015, 2014:;:
int key = 2014;

int count = 0;
for (int e: data) {
if (e != key) {

continue;
count++;
}
}
System.out.print (count + " Found");
H
What is the result?

A. Compilation fails.
B. 0 Found
C. 1 Found
D. 3 Found

Answer: A

NEW QUESTION 6
Given:
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public class App |
int count:
public static wvoid displayMsg ()

}

count++; // line nl
System.out.println (“"Welcome “+"Visit Count: “+count):; // line nZ

public static void main (String [] args) {

%
i
]

App.displayMsag (): // line n3
App.displayMsg (): // line ni

What is the result?

A. Compilation fails at line n3 and line n4.
B. Compilation fails at line n1 and line n2.
C. Welcome Visit Count:1Welcome Visit Count: 1
D. Welcome Visit Count:1Welcome Visit Count: 2

Answer: B

NEW QUESTION 7

Given:
public class Test {
public static wvoid main(String[] args) {
Test ts = new Test():;
System.out.print (1sAvailable + " ");
isAvallable= ts.doStuff():;
System.out.println(isAvailable);
}
public static boolean doStuff() {
return !isAvailable;
}
static boolean isAvailable = true;
}

What is the result?

A. Compilation fails.

B. false true
C. true false
D. true true
E. false false

Answer: C
Explanation:

Console 15
true false

: { ernla 1h x

Completed with exit code: 0

NEW QUESTION 8
Given the code fragment:

public static veoid main(String[] args) {
TRt J1 = 0
ank T = %

HEA

}

(i = 0Oy id = JJ+= 1@ 1idi = 11 + 23 4
gyveten. out. . printhfil ¥ " "y

What is the result?

A .24
B.0246
cC.024

D. Compilation fails

Answer: C
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NEW QUESTION 9
Given:

public class App {
int count;
public static void displayMsg() {

System.out.println("Wwelcome Visit Count:

}

public static void main(String[] args) {

2Zpp.displayMsg();
displayMsg () ;

}

What is the result?

A. Welcome Visit Count:0Welcome Visit Count: 1
B. Compilation fails at line n2.
C. Compilation fails at line nl.
D. Welcome Visit Count:0Welcome Visit Count: O

Answer: C

Explanation:

! public class App {
int count;
public static woid displayMsgi{}) {
[>:] System.cut.println{ "Welcome Visit Count:

)

public static wvoid main{String[] args} {
App.displayMsqgl);
displayMsgl);

1

NEW QUESTION 10
This grid shows the state of a 2D array:

o o
X o

X

The grid is created with this code:

char[][] grid = new char[3][3];
grid[1][1] oy
grid[C] [0] = OF
grid[Z] [0] = *¥'
grid[0][1] = *OF
grid[2] [Z] = X'
grid[1] [2] = O
{f/line ni

S - T Sa - e

Which line of code, when inserted in place of //line n1, adds an X into the grid so that the grid contains three consecutive Xs?

A. grid[2][1] = *X’;
B. grid[3][2] = ‘X’;
C. grid[3][1] = *X;
D. grid[2][3] = ‘X’;

Answer: D

NEW QUESTION 10
Given the code fragment:

public static wvoid main(String[] args) {
LocalDate date = LocalDate.of (2012, 1,
date.plusDays (10) ;
System.out.println(date);

}

What is the result?

A. 2012-02-10 00:00

B. 2012-01-30

C. 2012-02-10

D. A DateTimeException is thrown at runtime.
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Answer: B

Explanation:
Monjwa B : java version "1.8.0.31"
Java(TV) SE Runtime Environment (build 1.8.0.31-b13)
Java HotSpot(TW) 64-Bit Server W (build 25.31-b87, mixed mode)

1 import java.time.localDate;
2 Import java.time.Month;

2 » jovac -classpath . :/run_dir/junit-4.12, jar:/run_dir/hancrest-
B _ ore-1,3, jar:/run_dir/json-simple-1,1.1,jar -d . Main,jova

4 public class Main { s jova ~closspath ./run_dir/junit-4.12. jar:/run_dir/hancrest -c
5 public static void main(String(] args) { re-1.3. jar:/run_dir/json-simple-1,1.1, jar Main

6 LocalDate date = LocalDate.of (2012, 1, 30); 2012-01-30

] date.plusDays(18); I

B System,out.println(date);

9 i

14 ].

NEW QUESTION 14
Given:

class Product {
double price;

i

public class Test {
public wvoid updatePrice (Product product, doubkle price) {

price = price * 2;
product.price = product.price + price;
H
public static void main(String[] args) {
Product prt = new Product () ;
prt.price = 200;
double newPrice = 100;
Test t = new Test () :;
t.updatePrice (prt, newPrice);
System.out.println(prt.price + " : " + newPrice);
H
}
What is the result?
A. 200.0:100.0
B. 400.0 : 200.0
C. 400.0:100.0

D. Compilation fails.

Answer: C

NEW QUESTION 17
Given:

claze HoOA
SEatie Ant d.s
imt
public static wvoid main(8tring[] args) {
¥ 2l = new ¥ {);
¥ HZ2 = new ¥():

®¥l.1 = 3;
xl.] = 4;
o I
X2.7] = 6;

Svstem.out.println
e R s (L
xl.3 + " " +
2.1+ " " 4+
o Zhiey 1
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What is the result?

A.3456
B.3436
C.5456
D.3646

Answer: C

NEW QUESTION 22
Given the code fragment:

abstract class Toy {
int price;
7/ line nl

h

Which three code fragments are valid at line n1?

A
public static void insertToy() {
/* code goes here */
}
B
final Toy getToy() {
return new Toy():;
}
C
pubklic void printToy():
D
public int calculatePrice() {
return price;
}
E
public abstract int computeDiscount();
A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
Answer: CDE

NEW QUESTION 25
Given:

interface I {
public void displayI():
}
abstract class C2 implements I {
public void displayC2() {
System.out.print ("C2");

}
class Cl extends C2 {

public void displayI() {
System.out.praint ("Cl"});

}

And the code fragment:
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C2 objl = new C1();
I obj2 = new Cl();

C2 s = (C2) obj2:;
It =abyl:

t.displavI():
s.displavyC2 ()

What is the result?

A. Cl1C2
B.ClC1
C. Compilation fails.
D. C2C2

Answer: A

Explanation:

& lund gave % ¥
[y sre

interface 1 {
public void displayI();
}
abstract class C2 implements I {
public void displayC2() {
System.out.print("C2");
}

}
class Cl extends C2 {

public void displayI{) {
System.out.print("Cl");
}

}

public class App {
public static void main(String[] args) {
C2 objl = new Cl();
I obj2 = new Cl();

€2 s = (C2) obj2;
It = objl;

t.displayl();
s.displayC2();
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Console 1 X Console 2 * Console 3 X %

C1C2
Completed with exit code: 0

NEW QUESTION 29
Given:

class Caller |
private void init {) {
System.out.println(“Initialized”);

private wvoid start ()} {

init ()

System.ocut.println (“Started”) ;
}

public class TestCall {
public static void main(8tring[] args) {
Caller c = new Caller{):
c.start(); // line nl
c.init(); // line n2

What is the result?

A. Compilation fails at line nl.
B. InitializedStartedInitialized
C. InitializedStarted

D. Compilation fails at line n2.

Answer: D

NEW QUESTION 33
Given this class:
public class CheckingAccount {

public int amount;
//1line nl
}

And given this main method, located in another class:

public static void main(String[] args) {
CheckingZccount acct = new Checkinglccount () ;
//1line n2

¥

Which three pieces of code, when inserted independently, set the value of amount to 100?
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A

At line nl insert:
public CheckinglAccount () {
amount = 100;

At 1ine nZ insert:
this.amount = 100;

At 1ine nZ insert:
amount = 100;

AL 1ine nl insert:
public CheckingAccount () {
this.amount = 100;

At 1ine nZ2 insert:
acct.amount = 100;

Af 1ine nl insert:
public CheckingAccount () {
acct.amount = 100;

. Option A
. Option B

. Option D
. Option E
. Option F

A
B
C. Option C
D
E
F

Answer: DE

NEW QUESTION 38
Given the code snippet from a compiled Java source file:

public cla=zs MyFils

{

}

Which command-line arguments should you pass to the program to obtain the following output? Arg is 2

public static voild main (String[] args)

{

String argl args[1];
String argZ = args[2];
String arg? = args[3];

System.out.println(™argy is “ + argi);

A.java MyFile 1322
B. java MyFile 2 2 2
C.javaMyFile12234
D. java MyFile012 3

Answer: A

NEW QUESTION 42
Given:
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public class Test |

public static vold main(String[] args) |
Test t3 = new Tesat();
System.out.print (isAvailable + ™ “);
izivaillakle= ts.doStuff () ;
System.out.println(ishvailable);

ki

public static boolsan doStuff ()
return lisAvailakls;

}

static boclean i1sivailable

falszse;
1

What is the result?

A. Compilation fails.
B. false true

C. true false

D. true true

E. false false

Answer: B

NEW QUESTION 47
Which statement is true about the switch statement?

A. It must contain the default section.

B. The break statement, at the end of each case block, is optional.
C. Its case label literals can be changed at runtime.

D. Its expression must evaluate to a collection of values.

Answer: B

NEW QUESTION 48
Given:

r

class Caller
private void init () {
System.out.println(“Initialized”) ;

private wvoid start () {

init () ;
System.out.println (“Started”) ;
}
}
public class TestCall {
public static void main(Stringl] args) {
Caller o — new Caller{):
c.start () ;
c.init () ;
}
}

What is the result?

A. An exception is thrown at runtime.
B. InitializedStartedInitialized

C. InitializedStarted

D. Compilation fails.

Answer: D

NEW QUESTION 50

Which statement best describes encapsulation?

A. Encapsulation ensures that classes can be designed so that only certain fields and methods of an object are accessible from other objects.
B. Encapsulation ensures that classes can be designed so that their methods are inheritable.

C. Encapsulation ensures that classes can be designed with some fields and methods declared as abstract.

D. Encapsulation ensures that classes can be designed so that if a method has an argument MyType X, any subclass of MyType can be passed to that method.

Answer: A
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NEW QUESTION 53
Given:
claszs Wehicle |
int =;
ehicle ()4
thig (100 ; // line nl
i
Vehicle {int =)
this.x = x;

}

cla=s=s Car extends vVehicle |
int ¥v;
Car () f
superil;
thisg (207 ; 4 line nZ
i
Car (int vl |
thi=s.yv = v;
i
public 3tring to Stringl) |
return super.x + ":" + this.vy;

H
And given the code fragment;
And given the code fragment:

Wehicle v = new Car () ;
Syvstem.out.println(v);

What is the result?

A. 10:20

B. 0:20

C. Compilation fails at line n1
D. Compilation fails at line n2

Answer: D

NEW QUESTION 58
Which three statements are true about the structure of a Java class? (Choose three.)

A. A public class must have a main method.

B. A class can have only one private constructors.

C. A method can have the same name as a field.

D. A class can have overloaded static methods.

E. The methods are mandatory components of a class.
F. The fields need not be initialized before use.

Answer: ACE

NEW QUESTION 61
Given the code fragment:

public static voild main{String[] args)

int[][] arr = new int [2] [4]:
arr[0] = new int []{1l, 3, 5, 7}:
arr[l] = new int []{1l, 3};
for {(int[] a : arr)

for {int 1 : a)

System.out.print (i+ ™ “);
}

System.out.printlni);

}

What is the result?
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A Compilation fails.

B
1l 3
1 3
C
1 3
followed by an ArrayIndexOutOfBoundsException
1]
13
1 300
E
1 357
1 3
A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
Answer: E
Explanation:
Tour :_.. B
1- 155 MyClass {
2~ public stetic void main (String [ orgs) {
3 it [10] are =new int [2] [4];
4 are[@] = new int [ {1, 3, 5. TH;
3 gre[1] = new int O {1, 3}
e for (int [0 a : are) {
7- for Cint 1 : a) {
g Systen.out.print(is ¥
3 b
18 System.out.println ();
TR
13 }
14
tern Libraries © Add External Librory (froe Moven Reso)
Commandl ine Arguments
Interactive mod m VEPrsS 10K ¢
Result. .

NEW QUESTION 65
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